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CHOOSE THE CORRECT OPTION 
 
1.  Production of a commodity, mostly through the natural process, is an activity in   
      a). Primary sector     b) Secondary sector         c) Tertiary sector         d) Public sector 
 
2.  A situation in which more people are employed on a job than are optimally required is 
      a) Structural unemployment      b) Disguised unemployment     c) Educated unemployment                                  
d) Seasonal unemployment 
 
3.   Which of the following is included in Tertiary sector 
      a) ATM booths          b) Call centres          c) Internet cafe     d) All of them 
 
4.  Which of the following is not an economic activity? 
      a) Banking          b) Dairy farming          c) Teaching         d) Farming for self-consumption 
 
5.  Feature of unorganized sector 
      a) Job security   b) Absence of basic facilities c) Regular income    d) Legal protection      
 
6.  -------------- is a significant step towards providing elementary education to all children in the        
age group of 6 to 14 years. 
      a) Navodaya Vidyalaya       b) Sarva Siksha Abhiyan    c) Vocational streams    d) Open schools 
 
7.  The most literate state in India  
      a) Bihar      b) Kerala     c) Uttar Pradesh   d) Maharashtra 
 
8.  A Virtuous cycle is created by 
     a) Illiterate parents        b) literate parents           c) Politicians            d) Industrialists  
 
9. There is no provision for additional benefits in 
      a) Public sector   b) Organised sector  c) Private sector  d) Unorganised sector  
 
10. Which of the following activity is not included in tertiary sector? 
     a) Tourism     b) Quarrying      c) Insurance     d) Trade      
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FILL IN THE BLANKS 

11. Workers in the ------------------ sector do not produce goods. 
       Ans. Tertiary sector  
        

12. Most of the workers in the ---------------- sector enjoy job security 
             Ans. Organised sector 
           

13. The ------------- decides the growth rate of the country. 
       Ans. Quality of the population 

14.  Population becomes human capital when investment is made in the form of ------------------ 
Ans. Education, training and medical care. 

15.  ----------------- is the most labour absorbing sector of the economy 
      Ans. Agriculture 

16. Literate and healthy population are an --------------- for the economy 
      Ans. Asset 

17. --------------- are the schools started for the talented children in the rural area 
     Ans. Navodaya Vidyalaya 

18. -----------------is  the least literate state in India  
     Ans. Bihar 

19. -------------is the death of a child under one year of age 
    Ans. Infant mortality rate 

20.  ---------------------is a situation when people are not able to find jobs during the particular 
months of a year. 

    Ans. Seasonal unemployment 
         
    STATE TRUE OR FALSE 

 

21. Market activities are performed for self-consumption 
      Ans. False 

22. Infant mortality rate refers to the number of babies born there for every 1000 people 
during a particular period of time.  

      Ans. False 

23. In India, the unemployment rate is low because large number of people with low income 
and productivity are counted as employed 

      Ans. True 

24. Education and skill are the two determinants of earning.  
      Ans. True  

25. Land is superior to other resources like human and Physical capital. 
    Ans. False 
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